

Prove the below closed form

$$I = \int_0^1 \frac{x \log(x)}{(x+1)(x^2+1)} dx = \frac{1}{32} (\pi^2 - 16G)$$

Where, G is Catalan's constant

Proposed by Shirvan Tahirov-Azerbaijan

Solution by Togrul Ehmedov-Azerbaijan

$$\begin{aligned}
 & u = \log(x) \rightarrow du = dx/x \\
 & dv = \frac{x \log(x)}{(x+1)(x^2+1)} dx \rightarrow v = \frac{\tan^{-1}(x)}{2} - \frac{\log(x+1)}{2} + \frac{\log(x^2+1)}{4} \\
 I & \stackrel{\text{IBP}}{=} -\frac{1}{2} \int_0^1 \frac{\tan^{-1}(x)}{x} dx + \frac{1}{2} \int_0^1 \frac{\log(x+1)}{x} dx - \frac{1}{4} \int_0^1 \frac{\log(x^2+1)}{x} dx \Bigg|_{x^2 \rightarrow x} \\
 & = -\frac{1}{2} \int_0^1 \frac{\tan^{-1}(x)}{x} dx + \frac{1}{2} \int_0^1 \frac{\log(x+1)}{x} dx - \frac{1}{8} \int_0^1 \frac{\log(x+1)}{x} dx = \\
 & = -\frac{1}{2} \int_0^1 \frac{\tan^{-1}(x)}{x} dx + \frac{3}{8} \int_0^1 \frac{\log(x+1)}{x} dx \\
 & = -\frac{1}{2} G + \frac{3}{8} \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k} \int_0^1 x^{k-1} dx = -\frac{1}{2} G + \frac{3}{8} \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k^2} \\
 & = -\frac{1}{2} G + \frac{3}{8} \eta(2) = -\frac{1}{2} G + \frac{3}{16} \zeta(2) = -\frac{1}{2} G + \frac{\pi^2}{32}
 \end{aligned}$$